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26. The HCF of two numbers is 3 and their LCM is 30. If the difference of these two

Numbers is 9 what is the sum of these two numbers ?

6 3
27. What is the difference of the maximum and the minimum fraction of —, —

’lﬂ ?
25 10 4

and l
5

. (Answer in the simplest fraction form.)

) 28. A shopkeeper sold a good 4 and a good B at the same price. While the good 4 made a
profit of 30%, the shopkeeper had incurred a 30% loss for the good B. What was

the percentage does the shopkeeper record a profit or loss from there two transactions?

' 1
29. In A ABC, E and D are points on AB and BC, respectively. Assume that AE = EFZEAB.

If the area of A ADE is 5 cm* and BD = DC, what is the area of A ABC, in cm® ?

30. The area of 3 faces of a rectangular block are 44 cm2, 33 cm® and 48 em?, as shown in the

figure. What is the volume of this block, in cm??

48

44
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31. A can complete a work in 45 days, B and C can complete the same work in 60 days
and 36 days respectively. If they all started working together at the same time and 4 leaves

15 days before the completion of the work, then in how many days will the work be completed ?

32. The average of 9 numbers is 11. When we bring one number out, the average of the

remaining numbers is 9. What is the number which is brought out ?

33. Before her last two Mathematics tests, Atchariya’s scores was 75 percent. She scored
! 82 percent in the test before the last test, and then her average scores were increased
to 76 percent. How many percent did Atchariya must be scored in her last test to increase

her average scores to 77 percent?
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